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=22 =0 & S{(x-y)*+(-2)*+(@-x)* =06 x=y=z

p: 242 4+22=0=2q: 22+’ +2-xy-yz-2x=0
CEEL

® Ix+y+z=Ix++d=xy+yz+2x0 <FHll> x =
3, y=5, z=-1= Y5t g - p 7} FHsHA] F=t...




50. oF& 17 % 5 24 p, g0l t5tel p7tol7]l 918 BaFeaa
A A

rO

@Op:xy+1l>x+y>2qg:x>1,y>1
©p:x*>y?q:lxd> D
©p:ild+hl=0g:2>+y>=0
AAHE U] = F25 A, Bell tisto
@p:(AUB)N(B-A)“=AUB,q:BCA
@p:(AUB)-(ANB)=B,qg:A-B=2¢
@p:(AUB)-(ANB) =B, q: A° =U

@® 274 @ 371 ® 474 @5711 ® 671

B

9, ©, ©, ®, ®°] BgFEZ7o|t.
Q:xyt+l>xt+y>2e (x-1)y-1)>0x>1,y>1 %=
x<ly<l1

JAY x+y>290|B2 x> 1,y>1..p = ¢q°l1 9=
:A-Eisg

®(AUB)-(ANB)=Bo A=¢




